Ex.2-§

- ;ﬁ) Q23 hodt 4 (10 &31) + L2, [ nid=l
._'E"-_- : ‘::-> ZC\+OL+ZIC = 5
| {*—Sa $al +ic =

oA R =1 dn .

2 &g o,
o ) :
) =

m g C&:‘L?:C o
| (2, B0 (60400 KA idd I ) pag FW ?

3 753 alputn) +hli,-2), ) 4CC2, 0.0 20
[ 6a+ib +2C =0.
L T ode el i op

| oa +ib -+ lc =0.
W
I S e
0.

= 20- D e M3 ) =

= (0li2i) =Gi g

raszbsc=p_

(@,Kfﬂ C)) (,L)- ,A)&,CZOJ)Mfkcﬂg?ww(ﬂ;d’--__

&) _@iaz 2 b(bo, m{u, ¢ i) =0
: la +ob +21¢C 2O
= Sa tol +ic <D
2Hpoath — jc =0p.

- | =2 & ,\ =z (=d (Zwét ) = -§< F0.

Ry Ca)o 135,(2.; 0 ~()M e




(AD UL(L) 2) T L(ﬂ () ‘“‘[) o C(r ‘§t+§£)-0

= e P 3L emlc oo E
== ‘CL “t‘ e +31C_ el 4. W E
A #3% HSre—= 5
i . e == S'*w) - 3 Y L 2))
& A 8d brmp —SimRe - lS’JHg:"H'«-?—_

2 Y

| +o
T T Ca i) v QM W




